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Solve each inequality below. Draw a straight line connecting it to the inequality that
~ describes the solution set. The line will cross a number and a letter. Write the letter
in the matching numbered box at the bottom of the page.

Q@) x-7>17 . o x>2
@ 2x+36<4 o @ @ e x=—-4
@ 10— 8x>26 . @ ®x>6
@ —-6x—1=<23 . ® x<-10
B) 6+11x>-60 o ®
(6) -9x+5=-58 o @
(@) s2-15x<2 . Q) o x>—1
42>3x+3 N )

(®) -26<4-5x « (@ ® e x<7
26<-7x—2 ° @ @ o x<—4 ~
@ 10x+18=-72 e @ ® x<38
(2 12>-14x-2 o ® % o x<-2
@ ax-68>-4 o ® ® ® © o x<13
37<17-2x . © © e x=-9
@ -3-7x>-17 @ ® x>—4
14<5x+34 o ® °x>16
@ 58 —x=20 . @ ® x>—-6
.6x—4<—40 o ® x<6
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ALGEBRA WITH PIZZAZZ! OBJECTIVE 2-b: To solve inequalities of the
190 G Creaive Publications form ax + b > ¢, where a is an integer.
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- What Do You Call Drilling 4,876 Holes?

Solve each inequality. Find the inequality that describes the solution set and
cross out the box containing it. After completing all the exercises, print the letters
from the remaining boxes in the spaces at the bottom of the page.

(@) x-8>10
@ -2x+7<37
(3 30-8x<6
@ -28=12x-4
® §<11 @ %x—sza
® £-9>3 @ -H+o<2u
. @ -3+20=4 ® —1228—%’(
7-%=12 Sx+ror<0
® —18>%—10 (9 30-6x=0
§x<14 13->13
HO DR AD I AB
x<—50 x>6 x<-1
BI SP TH
x>3 x=5 x>60
LE SL oB
x=-15 x= 15 x<19
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OBJECTIVE 2-c: To solve inequalities of the form ax + b ¢, ALGEBRA WITH PIZZAZZ!
where a is an integer or fraction @ Creative Publications 191




